MOVU)(A% f@k. /2
Z@@Wﬂa é



[ )

UH/H(QS % U |
T men( - - )?

7t ﬂ%(mt[l SR

T

A

| T




(s >= 80.0) {
XSystem. out.println?); } ﬁ]OlA) [,\l’lMO

qels® { /3 score < 80. /
(D) (scke >= Q) |
stem out prlntln@ }
f@‘ { /* score < 70 */ /j

(score >= 60.0) {

System.out. println
g/-}:;{ /* score < 60.
ystem.out.printl

}
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ystem.out.println("A");
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Sys em.out.printl;
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{else if Yscore >= 60.0) {
Qout.println("c"); )(C
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System.out.println("F");
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%nt x = I1nput.nextInt(); ﬁ) 4/]04
int y = 0; __Jfﬁg——————s
iF X220 A

CSystem.out.println(“x is positive");

if (x> 10) { y=x = 2; }

else if (x < 10) { y = x % 2; }
else { vy = x * x; } </<7(-7/0)
e

T | X="0

"X is negative");

[if (x < -5)
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System.out.println("Enter a radius value:");
double radius{= input.nextDouble() ;

| boolean
ey
| while- Q)
(double area = r@dius A {i?ié}#l 3.14;
System.out.println("Area is” " + area);
nﬁ?ut.println("Enter a radius value:\");
= input.qgfzpouble();

1DT$£YS em.out.println(¥Error: negative radiué value.")}4
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System.out.println("Enter a radius value:");
double radiu input.nextDouble () ;

ONOONPD WN =

stem.out.println("Area is " + area);
)( ystem;?yt.println("Enter a radius value:")J;
adiug =_input ouble();

=fradius >= 0;| }
ystem.out.println("Error: negative radius value.");
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